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l Knowledge, Current Affairs & General Awareness about the Environ
m, m 1 E]ecﬁon

i a
® gled !;im‘ General Election in India was helJa 1971. When was the Sixth Gener
e —"
gl mwaﬂlmﬁ@mmmwﬁqﬁﬁaﬂﬁﬁmﬁgzﬂl
e (2) 1976 @) 1977 @) 19
Whid Wy -
: of the following is a vernacular name for the National Aquatic Animal Cif [ndia
(1) Vil'aal (2) Mo ul (3) - (4) Vara
I ¥ T weftg gy &1 29 (TR TH R ?
- . (2) e 3) T (4) =@

3. UN Framework convention on climate change (COP 21) is also known . SR e
(1) The Earth Summit
(2) The Rio Conference
(3) The Paris Climate Change Conference
" (4) AR6 Climate Change 2021 _ aoh
ey YR gt waE T e SfEa ($ 21) = fyefataa § @ e T
(1) et forar geer (31 wfe)
) T wder (3 fa #59)
(3) e ey i e
(4) TIR6 Farg UiEd, 2021

ST ST R 2

4. In January 2025, the Niti Aayog published the inaugural issue of the FISZ 0
Which is the top ranking state as per the latest figures provided for the Financi ’

to the report ? |
(1) Gujarat (2) Jharkhand (3) Odisha (4) Maharashtra

S, 2025 ﬁﬁﬁmﬁmmﬂawwﬁﬁ&é(ﬁmﬁ%@@ﬂﬂﬁqﬁ)mmu
mw*mﬁﬁmaﬁzw%mwa@%wmmﬁwmﬁﬁmmm

aFF F e § e W ?

(1) TeRE (2) FRE@S (3) aifewm (4) WENS
5. Which of the following is/are the example(s) of permanent wind in India ?

(a) Trade winds (b) Westerlies (c) Loo

Choose the correct answer from the codes below :

(1) only (a) is correct. (2) only (b) is correct.

(3) only (a) and (b) are correct. (4) only (a) and (c) are correct.

foreAfefiad § 4 uwa § w2 vad /% e ;e ? .
(a) =AM vaa (22 fagd)  (b) JeEns (A ) (o) T

44 fau mu F2 H | =/ I A

(1) &ad (a) T8 21 (2) &ad (b) T R

(3) #ad (a) AR (b) T T (4) Fad (a) 3 () T
o)
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ich of the following ¢
Which « 8 qt\‘m'em‘mt(&) is/are correct ?
(a) Dee Dayal

Upadhya
ya Was aSSOCiated ith th ncept of int L% v A -
@) C. Rajagopalachar; WHILGIS Einesp egral himanism,

N
(3) only (€) is correct (2) - only (a) and (c) are correct,

ﬁqﬁ{fﬁﬁﬁﬁaﬁqm@mm%/%? @) EP“IY (@) and (b) are correct.
& ﬁqmwmmﬁﬂﬁmﬁmﬂmﬁmﬁwu

®) Fﬁwwﬁmm%g@qﬂ%ﬁﬁ%ﬁmw
ﬁmm{?{ﬁ@‘qﬁmgﬁq

(1) dd (a) &I B 7 i
(3) A () Wt R

Which team won the 2024-25 Vijay Hazate Trophyts

(1) Karnataka (2)  Vidarbha (3) {_sSaurashtra (4) Delhi
CL 2024-25%ﬁmmﬁ§‘fﬁﬁﬁﬁmﬁqﬁmﬁ=n§ﬁ°ﬁﬁqﬁ%?
(1) wHeF @ fost 0)¢ Fr @ el

P i
£ -

| —

Which institution in India was established in 1998,;’m confirmity with the Paris Principles ?
(1) National Commisssion for Protection of Child Rights.

(2)  The National Commission for Women,

(3) The Comptroller and Auditor General of India.

(4) National Human Rights Commission.

WA &1 fF9 T T TeeT o 1993 ﬁﬁﬁnﬁwﬁ’u%’wgﬁ ot ?

(1) T a6 AR ERET ;
(2) T Hfeen s ij
("l
(3) uwd & f1Eee SR Ao e N
(4) T gHETYER SR (.;J
)
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What is the theme of the 2025 United Nations International Year of Cooperatives ?
(1) “Cosperatives Build a Better World'

e ) "Cooperatives for Sustainable Developmignt’

@) ‘Cooperatives build prosperity for all;t%

@ ‘Cooperatives for a just society and s lanet’
aﬂz%ﬁ%wm@aumﬁmaﬁwﬁwﬁf@ﬁﬁ@’m%?

(1) " Fewon A s s 7 o v & (Ao foee 31 9 )
(2) ‘Wit forr 3 fory wewRE (Feifeliesn wR TREA TAATHC)
(3) “Sewien @ Wi % frg wts o 3 (e faes SRfE B A
4) ‘mmmaﬂmﬁm%%mmﬁm’(aﬁaﬁmmﬁﬂmwmmﬁz)

: wing Countrieg
10. The Reserve Bank of India has served as the Central Bank for which of the following =i
the past ?

al
‘o (1)  Sri Lanka (2) Afghanistan (3) Burma (4) Nep )
Foe i 4, st o 3 e 8 205 3w 3 i S (gt #) T TRy
(1) dici (2) STHTEH %(?? ELi (4) HT

11.  The Central Institute of Educational Techncg]é;fgn‘%k is a constituent unit of __ ———
(1)  University Grant Commission (UGC) C\"%
(2) Al India Council for Technical Educa:ttlzz; (AICTE)
(3) National Council of Educational Reseﬁf_’gﬁ and Training (NCERT)
(4) Kendriya Vidyalaya Sangathan (KVS)* ¥
v Sesfore SeNfTe) e Fetfetfan 4 R s T 32
(1) favafarred sreE SR (7 ST )
(2) sfEe YRdrE de-te! e aiee (U et o <€)
(3) UG Hefors sEYM wE wfeo e (T g e d)
(4) =g foemem H@eq (% ot wa)

12.  Which two Indian cities are the first ones toi‘:gm the global list of Wetland accredited cities under

the Ramsar convention ? |

(1) Indore and Udaipur » {2 ‘ .V-:Udaipur and Bhopal

(3)  Jaipur and Udaipur (4) ( Hyderabad and Srinagar ]
AT SATTHEE F St Sy wenad vl e e get § veel IR Wit 39 9 YA o Q) R
fafafad A @ #R 4 8?2 )

(1) %R M Ty (2) - IR iR e

(3) A 3N W|AR (4) TeUER SN 4R

. C
B 4 JAID 3
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]3‘ ‘Vhil‘h (’Ounln' l‘l(‘ct“d lh(' World'ﬂ ﬁl’.‘il woman Pl‘im(‘ Minigt(lr in lh(.‘ 20|h C(‘nl’ury ?

(1) England (2) German i
. : any (3) Sri Lanka (4) New Zealand
;;:nﬁjfmﬁﬁﬁﬁ%ﬁ%ﬁﬂ@wﬁmmmmwamamﬁa
O @ O ey
14. J:m(‘“\%if;‘:aii}:rgg Which wag the cheapést currency in the world at the end of 2024 ?
E"!; Iranian R;a] o8 (2) ) Indonesian Rupiah
: e o
¥ 2024 % T F v 73 T Tt oy (ﬁqfﬁﬁga) ‘ Ugan;?:;f;;g
(1) fegdm =t g 2 " e
Q) SR R @) e %) fafein

. Who among the followine « :
N isonrd ori ﬂ%e e\(:e gfl(t)lx n;g[hwlla:pivg;rdgd Kirti Chakra, the second highest peacetime gallantry
(1) Subedar Mohan Ram Y of India, 2025 7

i (2)  Captain Deepak Singh (Posth
(®) Vi a.yan Kutty G (PosthurnouS) ) MaI;oTII:/Iar?;}tJa S )
3&20257’-1,%%763'%%@%

T A T o ey ‘*; H 3 ferd fier it wifes il eeem,
M) TR T (2 ) e s fefa (weoivecia)
(3) o F2 st (mrohria) @ o it

16. Who among the following is the auther of "Main Jab Tak Aai Bahar, a poetry collection in Hindi
language which was awarded Sahitya Akademi Award 2024 in Hindi language ?

(1) Jitendra Bhatia (2) Mamta Kalig () Gagan Gill (4) Madan Kashyap

ﬁmﬁ,aﬁmzﬁmﬁawmﬁwﬁa%ﬁ T % 9 HUE H e e o7 e’ )y
e/ e Fefafea § & o &)

(1) SR Q) ey (3) T frret (4) HEA HYEH

17. World's first successful vaccine was created for which disease ?
(1) Influenza (2)  Smallpox (3) Diphtheria (4) Rabies
fasammmﬁmﬁwﬁaﬁaﬁﬁﬁmﬁnasmmw o7
(1) T @ F @) fewifm @) W

L)
18. Before January, 1950 Uttar Pradesh wag _gfﬁcially known as

(1) Central Provinces ) .J North West Provinces
(3) Awadh Pradesh (4) ) United Provinces

S, 1950 8 e ST 2 9 91 Wiy dy w Freaffen 4 @ o m & e s
(1) =43 = (Hga ifads) ()] ST ufEem (A S e
(3) @Y v (4)  HIH AT (YL Wferden)

=]
=
‘=]

5 JA1/D


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR97  —

39

20.

21.

22.

23.

OpA0

ol

p of countries for

: f G20 gro
&?;:fif&e following, which country has assumed the Presidency O
; December 2024 to November 2025 7 ” _— Africa
(1)  India @) Brazil (3) Mexico i = o
Freafife 3 3 fig 2y ﬂqamzozsaam'tmzrrafu%fmﬁﬁ’zo
Ed 024
TAERR? S
U-i n e I
(1) vma @) aﬁ;@ 3) Afeg!
)
! - . Hall of Fame under the player

Among the following tennis p@gs who was inducted into Tennis

Category in 2024 ? ‘

(1) Sania Mirza ,j‘ 2 Ramanathan Krishnan

(3) Leander Paes (4) Mahesh Bhupathi o o 3 o
a‘f2024ﬁ,f@a@ﬁfaﬁavﬁﬁﬁmﬁﬁ§ﬂﬁﬁm%ﬁuf@wéﬁmm Ry
™Y

(1) e s (2) T FIH

@ Foe N @

When was the Constitution of India amended for the first time !

mﬁmﬁmﬂﬁmaﬂmmmﬁmw7 ‘

=T (4) 1956

(1) 1950 () 1951 (3) 1954
;';:; . . . ?
Which of the following was recognized as a classical language 1n Indla. in 2024

(1) Awadhi (2) Gujarati (3) Bodo (4) Assamese
a4 2004 F Freifefaa § | fhG ST &1 A o % &9 F T R
(1) @ (2) I (3) d& (4) STEEA =
Which Film maker was honéﬁred with Satyajit Ray Lifetime Achievement Award at 55th
International Film Festival of Iridia 2024 ?
(1) Phillip Noyce  (2) Méii?tin Scorsese (3) Wong Kar-Wai 4) Krzysztof Zanussi
T i ST 5 91 S fea 2024 B Frfatan # & o feen Ftdn 1 gersiid T
IyeAfey qUERR | FeEItd {6 1@ 2
(1) fefemdrd () "R@RE () dEEAE (4) e S
OV
8 JA1D 2
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24, Consider the [ollowing Statementg :

(A) Campos is a type of Temperate Grassland.
(B) Campos is found in Brazj].

Choose the correct answer from the codes below ;
(1) Only (A) is correct. (2)  Onl i

y (B) is correct.
(3) Both (A) .and (B) are correct, (4) -~ Neither (A) nor (B) is correct.
(&) T YN S (et 1 v
(B) HwH CIEISRIA D) S § |
9 few o 2 ¥ W W IR f
1) Fod (A) @ R

L (2) et (B) W ¥
3) (A) iR (B) 3w T -

(4)  F7(A) 7 (B) T ¥

25. Who was the winner of Wimbledop, 2024 men’s singles final ?

(1) Carlos Alcaraz (2)  Alexander Zverev
(3) Casper Ruud (4)  Novak Djokovic
foaee, 2024W-W%ﬁﬁmﬁmﬁ«f@aﬁﬁﬁ=r€r?

(1) A ek (2) SRS S
(3) ¥ ES (4) T Sl

< ens e celellnrated in Nagaland SVETYy Y:eali:in the month of December is known as the
‘Festival of Festivals’ ? Y )

(1) Hornbill Festival (2) Loku Festival
(3) Ziro Festival' (4)  Boor Boot Festival
st fergrma FE H FMHS & W10 1 A1 Fory et 1 e oy e (Hfeae 3w Hieaed)

27. Data from which two Indian States was not direg_ély fed into UDISE + Portal of DOSE & L for the
UDISE + Report, 2023-24 ? —

(1) Tamil Nadu and West Bengal (2) Kei*aila-?and West Bengal

(3) Kerala and Tamil Nadu (4)  Orissa’and Tamil Nadu

9 & o uH £+ R, 2023-24 % fAfer fretfefen & & wra & fet & ool % <9 (SFE) G w@ s
WE Te % 7 €1 A TH ¢+ et § Yeam: whre T fopg a2

(1) dfFerrg iR ufeem s (2) e R e S

(3) @ iR afaerg (4) 3% iR afrerg
7 JA1/D

P


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

28,

29,

30.

O p——

Consider the following statements :

W) Scientists organize galaxies based on their shapes
® Milky way is a type of Lenticular Galaxy.

Choose the correct answer from the codes below :

(1) Only (A) is correct. ;{‘_’,\»]2) Only (B) is correct.

©) Both (A) and (B) are correct “\_l4) Neither (A) nor (B) is correct.

and physical features.

3 fr o e o A Wl I A
(1) %3 (A) T 21 (2) %ad (B) W@ ¢
(3) (A) 3 (B) I W T (@ A (A)T(B) T T

B =

The Mound-Burial System of the Ahom Dynasty from Assam,
World Heritage List in 2024, is called”

(1) Moidams (2) Pattadakkal  (3) Vav (4)
S ¥ s o %) - T WoTeh (Hrse aree fae) fR e 2024 F g F1 I S
gt A St fRammEn, Feer g

(1) wréeH () e (3) Td (4) wEmEA

which was inscribed on the UNESC

Shavadhan

In January 2025, the World Meteorological Organisation hosted the launch event for which of th
following ?

(1) World Ocean Festival
(2) International Year of Glaciers’ Preservation
(3) International Year for conservation of Arctic animals

(4) ‘Clean Air for Blue Skies’ World Forum

SHEd, 2025 § fava wraw fage WA A frefarad § @ g sriwd &1 guRy f6ar?

(1) fava FemrR TRk (96 SRR Hitead) I
(2) eramiy fear ofwem o (SRR TR S ey s )

(3) HFAWLG ek g WA aY (FTEIFT TR R horaye S ehfesh H9e)

(4) ‘e A % fou @ 9y favd 79 (‘A TR HR ] $hEe 908 BRA)

[=
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31.

32.

33.

PART - 11 / a1 - 11

Reasoning & Mathematjcg Ability / i wa arfreter grarar

pointing towards a boy a man sajq to T ; father”.
How is the woman related to that boyﬂ?WOman, His mother is the only daughter of your fa

() Sistr  (2) Mother 3) ‘Grandmother (4) Wife

€6 T 1 SR T G et v e g e ot o v 4 e o 175
Afec F1 39 TSF ¥ T ey )

(1) (2) (3) ‘ewtA @) e

How many meaningful English words « b ok et "
of the word ‘LAMINATE' tsing each , I{all}‘: oi Cf:r;ned by using first, third, sixth and eighth letters

'LAMINATE’ ¥ &a, W,E%Sﬁtwaﬁaaﬁﬁmaﬁ@wmmaﬁaﬁ%mﬁ el =g
S T Fha 2

1 1 2 2 3 3 4) 4

wed by two conclusions numbered I and II. Assuming the

dateshints to be true even if they seem to be at variance with commonly known facts, decide
which of the conclusions logically follow(s) from the statements ?

Statements : All villages are cities,
All cities are countries,

No country is state,
Conclusions : (I) No city is state.

(I)  All villages are countries, .|

(1) If only conculsion (I) follows, (2) ‘Ifonly conclusion (II) follows.
(3) If both conclusions (I) and (II) follow. (4) If neither conclusion (I) nor (II) follows.

:ﬁ%aﬁmﬁ%mﬁﬁﬁﬁdlaﬂnlﬁmﬂq%lmﬁmnﬁmu@r‘éémmaﬂﬁ@:ﬁm
sﬁ'l?r'a;lﬁé’f,ﬁdﬁﬁﬁqﬁﬁqﬁ/mﬁwmwﬁm%wﬁmﬁ%‘/w%?
FU: TR T TR
T+ T W R
H1E off <9 T 7 B
fremd (1) : =E off TR T T R
(I1) : Teft 777a 3 ¥ )
(1) Faa freawd (1) Freem 3 (2) bore Pret (11) Foreper ¥
3) femd (1) 3/ (1) S Frere € (4) 7 Fremdd (1) iR T & (11) Frereran ¥

SPACE FOR ROUGH WORK /1% &4 & fow s
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35.

36.

37.

=
Google Play

Lt ee pairs bear a certain comn,
ords

Four pairs of the . 1 the W i Jated-
: word ; t of which X tly rela
nﬂahonship. Choose ﬂ:ea;zi%l -vmm::,t?jlclh the words aré differen b/

(1) Venus : Planet (2) Ganga Kiver
(3) Mountain : Everest (21)-‘ Parrot : Bird a < ¥\ f= 4939 TR-gy
ST - i g & ot 4 i R A 8
0 w:w () T
@) e [y el

- e second term is relateq

: ' i ay as th
Select the option that is related to the third term in the same Way =%

the first term. ¢ ¥ Hafiq
mﬁmmwﬁmﬁmw@s@mﬁ%%ﬁ@““ﬁ s
CPLE:BMGX::KTSB: 2, @ §aMuU
1) JQNU (2 JPNU @ JANVY

Find the missing term in the following series :
TNRATEfan i@ e TR
WDM,BYRGTW,_2,QJG [ =

B
1y LPL @ Loc (. (3 LPB 4 LO

‘A +B' means ‘A is the mother of B, -

‘A +B means ‘A is the husband of B, &

and ‘A x B’ means ‘A is the father of B’ég----_f :

If PX Q-+ C+D, then how is ‘P’ related to ‘D" ?

(1) Maternal Grandfather “(2)' Brother

(3) Father (4) Paternal Grandfather
‘A+B 1 Hd 1A, ‘B FH A E,

‘A+B g A, B FAME,

3R AxB F1ad & A, B F IR

afz PxQ+C+D, ¥ AP, D & fhd TPR Heiferd &2
(1) A @ W=
3) fum (4) T

SPACE FOR ROUGH WORK / 7% &t & fefu s
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38. If 15 August 2011 wag Monday, what day of the week was on 18th September, 2011 ?

(1)  Sunday (2) Saturday (3) Friday (4) Monday
af% 15 37T 2011, F rwaw o Ay 18 famar 2011 1 T =1 3 T feq o7 ?
(1) &R (2) wfmER 3) WQ (4) TwEn

et

39. Inacertain code language ‘GARDEN' is written as 29831§and ‘PRAISE is written as ‘689541’,
then how will ‘GRAPES’ be written in the same code langfiage ?

af fF F2 W ¥ ‘GARDEN' %) ‘20837 feran s & @MY PRAISE' 91 ‘689541 forar s & 1
‘GRAPES’ ! gt %2 uTe H 9 foran w2 )

(1) 289514 (2) 298614 3) 28961{; (4) 289164

40. A clockis so placed that at 12 noon its minute hand points towards North-East. In which direction
will its hour hand point at 3 o’ clock ?

(1) South (2) East (3) South-East (4) South-West

@H‘éﬁwwww%ﬁﬁmua@rwmﬁ@w—tﬁfmﬁaﬂrq'sﬁa%%l TEH T
193 T e feen 1 oIk vt >

(1) =fam (2) 9o 3) Efw—{" @) <faror-ufeem

—t

_ )
41. Three of the following four groups of letters are alike in (@ certain way and thus form a group.
Which is the one that does not belong to the group ? _-.;%g:g
FrAferiet =R aHeR SRt 3 4 1 O Fifra w03 3 o oy g Yo o e 9 | Pt 8
¥ FH-91 T 39 e § Haitea 7 27 )

(1) GBL 2 PKU @ cHXN (4 WRB

42. Arrange the following words in a logical and meaningful order :
() Reader (i) Author (iii) Editor (iv) Seller (v)  Publisher
freferfen el =1 difdher & stefqul s 3 srafier Fifw -
(i) dH (i) EH (i) FRE () R () T
(1) (i), (i), (), (v), (1v) @ (i), @), (), 0

ey,

6) (i), i), (v), @) @v) @) (), i), (9 6v), )
SPACE FOR ROUGH WORK / T% am;ﬁ?a fo s
&\
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43. Ho
3. W many ,
ANy numbers are there in the following

followed :
by an even number and are also divist

R sjren o teh e s et e 6 ¢
§ forgap S T
R A fawifra of o # 2 N

6 11 48 9 32 302(3;428
4318 16 5 36 12 13 30 24 %) i

1 4 2 5 R
@)

44. Find the missing number in the following series((;'zij
3 & mé sjen § o e A H N
1,5,14,30,55 2 , 140 :
1) o @ 91 @ 102 @ Y

; ; O’ is written as ‘PCBKly
45. In a certain code language ‘CLOCK’ is written as * ANMEI and RADI :

then how will ‘GRINDER’ be written in the same code language ? ”

afg fardt e aror & ‘CLOCK’ 1 "ANMET fera ST % 3i 'RADIO" FI PCBKM E

%< g §‘GRINDER” I & fa@n smem? o 4
' ETGPBHP

(;;’} _JETGQBGP (4)

b ;
46. Given below are the jumbled letters of a Wo;;dfla}1d the
combination of numbers so that the letters arra‘_nged accor

ﬁww%m@awﬁﬁw@ﬁﬁﬂé%lw
el 1 SFartyd F W AUl e T FH |
5(

BELIRUCPE

(1) ETGPBCP (2) ETGPBGP

ir corresponding numbers. Select th
dingly will form a meaningful word,

- T H T Iy

12345 6 7§

(1) 861,34725 (2) 52861347

(3) 52147836 4 7r5% 13,482

SPACE FOR ROUGH WORK / 7% &rd & fag sme

p Q- |
i/?/f(//ﬂ\/(l;’ — e
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47. Tht‘t\‘ M;“) :l; :\;‘kﬁ‘ A,B,C,D, Eand F. B, C and E have white covers while the rest have black
covers. D ; H_ﬂﬂ_ new books while the rest are old books. A, C and D are English books while
the rest are of Hindi. Which of the followinF\is‘the black covered new English book ?

o~ o \")
A.B.C.D,E 3 F 8% 7% §1 B, C sl FR ¥ 3 AH e ¥ e Fwaw 1D A

wﬁ%aﬂ'{mmm%lA,cmD' ¥ T £ 2l e e ) e
ﬂawmwaﬁaﬁmaﬁmﬁ? rO e fe<ht =Y g & | Frerferfaa 4 @

(1 C 2 A ’83 F 4) D

?;W?aﬂ?wﬁ@ﬁ%amﬁqmw%lmﬁm,mﬁm@465'::{
%l SRR ?ﬁﬁ*ﬁaﬁ?lomasaﬁaﬁzzoéﬁ%mﬁaﬁw?sso@#m%a‘rmaﬁaﬁm
(1) 16 (2) 20 nE) 18 4) 22

Oy

#

In a row Rahu{ is at 13th Position _from the g and Raghav is at 18 position from the end,
while Ramesh is exactly in the middle of Rahit’and Raghav. If there are total of 48 persons in the
row, then how many persons are there between Rahul and Ramesh ?

N A O
T Uf § g ARY g 1sémmaﬂtwya% 18 S ¥ R %, Saifen TR, g 3R e  Forepet

mﬁ%mﬁwﬁﬁﬁﬁwwwﬁa%m@?}tm%aﬁaﬁmﬁmﬁ?

1) 16 2) 8 @) 7 @ 9

!

|/

»

D. If'—"means’+’,’+ ' means‘—",‘x’ means’+’ and ‘+’ means ‘X’ then,

e wm e wm e, o mad i a4

16x20-4+6+18=7?

(Dl | @

(1) 6 2) 28 @ 18 (4) 48
SPACE FOR ROUGH *w?b" ; /7% & & fan s

s [

(
PR ~ I (m_é/
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51.

52.

=t
Google Play

Five friends Aditya, Bobby, Chetan, Dev and Raj are sitting on ” F()untw:;c ::;‘l?gn(;;ulm; \
necessarily in the same ordér) Chetan igsitting second right 10 AQBYTL t myDcv ? b
left of Raj and immediate rigl;t of Che Who is sitting immediate righ

C (4) Bobby

(1) Aditya (2) Chetan lf) 3 e #

e firs e, a1, g, 2 s TR B A ‘
ﬁﬁmﬂﬁ)aw,,éﬁm*mﬁﬂﬁmmwt'w'wﬁ Y
ﬁmmmﬂatlhﬁﬁmﬂ@ﬁm%? Atell

.(3) e @ L ¢ (4)

N
ed 1and IL each containing g,

umber
ficient to answer the quest,

tatements N
d by two Sta yi jupr

Given below is a question followe R
tatements 1S

information. You have to decide which of the s
The sum of ages of X, Y and Z is 50 years. What is Y's age ?
Statement I: Y is 10 years older than X.

Statement II :  Z is 30 years old. 4]
t I alone is not suffic,

s : ; i
(1) Statement Ilaloneis sufficient to(:mq er the question while Statem _
ent II alone is sufficient to answer the question.

o answer the question.

n while Statement I1 alone is not sufficjg

ST € T € | ST T T T

i
(2) Neither Statement I alone nor Stat

(3) Both Statements I and II toget}gég\a{e necessary t
s .
(4) StatementIaloneis sufficient to answer the questio

ﬁé@w%maamlsﬂtumﬁ%ﬁﬂﬁmﬁﬁ
ﬂﬁm/ﬁwwmm%%%gm%?é?

x,yamzﬁmmmsoaﬁ%nyaﬁarrgﬂ%?

Feal: Y, XA 1098 a9 B

FUTI: ZH AG 30T T

(1) mﬁllm@mwwéﬁ%@m%wﬁﬁmmlmmﬂﬁ%l
) qﬁrmaﬁlawaﬁﬁ,ﬁeﬁmmnmmwméﬁgwﬂ%l

(3) a‘rﬁwmﬂtn@waﬁmﬁmmwéﬁ%fmw%l

4) ®wEAI mﬁwmwﬁ@m%mﬁmvﬁnmmﬁ%:

SPACE FOR ROUGH WORK / T & & ferg s7te

v 2z 2% 7(%1 )

0
A
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b5.

247

Google Play

(1) 140m (2) 120 m (3) 100 m 4) 80

T ‘A’ H y

?gﬁmﬂgﬁfﬁgﬁgﬁaﬁgonﬁa@% i 2T e ¥ sl il 60 ey wem &1 fim
?ﬂmﬁg'wwq@m%lﬁgwaﬁh'w%ﬁ?aﬁwqﬁ%:

(1) 140 " 2
(2) 120 Hex (3) 100 Hex (4) 80 Hex

A set of figures carryin .
cer , =
Based on that pattern, gﬁl‘ld tihlz' 111I:Iirsrslbers 1s given. The numbers in each set follow a similar pattern.

ing number.
SHTE % e ¥ Fo Gt B+
el Wﬁﬂé%n@mwﬁm@ﬂa‘aﬂmm%mﬁﬂﬁ%wm
® @
() (5 (®)
1) 32 2 12 () 59 4) 48

SPACE FOR ROUGH WORK / 7% & 3 for wmrg

pA
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PART - lll / ®T9T - I
General Hindi/ Wﬁ?rﬁ
56. frefafes & & Fw-w 9w w2 :
(1) =3 aftw w1 s e (2) o s femedl 9E o e e |
(@) T T R AR A (@) o 3 Fapl fofa fernl )

™

o7, “mﬁﬁaﬁr@'}%ln
WA F M A fiel' T I A U T

(1) frew (2) femd (3) frewd (). - forre
58. frfofes & ¥ vt v & S 19-91 wge 3 872

(1) 99 - R, 31, JeH ) @ - ], SergH, el

@) - ufaw, o, g (4) T - S, S, T

59. frafafea § & HH-w1 gl sfed 7 ©°2
(1) IF-3FTH  (2) < - SR (3) wEF - AfEH (Q

60. Wad SUTF foeed & =47 Hifsg |
‘g VR i foeH IR R -
1 T (2) =9 @) FH

PART - IV / 89T - IV
General English / ATHTST 373Gl

In the following sentences (61 - 63), choose the option in which the given sentence has been correct]
changed from Active Voice to Passive Voice or Vice-Versa :
61. The horse was frightened by the explosion.
(1) The explosion has frightened the horse. =
(2) It was the explosion that frightened the horse. —
(3) The explosion frightened the horse.
(4) Was the horse frightened by the explosion ?

62. The scientist made a remarkable discovery in his field of study. ;
(1) A remarkable discovery has been made in the scientist’s field of study.
(2) A remarkable discovery is sure to be made in his field of study by the scientist.
(3) In his field of study, a remarkable discovery was made by the scientist.
(4) A remarkable discovery was made in his field of study by the scientist.

&Ml
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P\ Who taught vou Tamil ?

(1) Tamil was taught to you by whom ?

:.. (2) By whom were You taught Tamil ?
F (3)  You were taught Tamj] by whom ?
.E (4) By who were yoy taught Tamil ?
h the given sentences (64 - i ' i

eﬂined by C(h Casg.ﬁ), choose the option which correctly identifies the Part of Speech of the

The mouse fell into ap open canister

(1) Conjunction (2)  Adjective (3)  Adverb (4)  Preposition

Hurrah! we have won the race.

N et
(1) Noun (&) Conjunction  (3) Interjection (4)  Adjective

SWimming has a number of health giving benefits.

(1) Verb (2) Noun (3) Adjective (4) Conjunction

f': the following sentences (67 - 68), transform the given sentence as per the directions :
37. He was too late to hear the last speaker. (Remove /too’)

(1) He was extremely late to hear the last speaker.
(2) He was so late that he could not hear the last speaker.
(3) He was so late that he could hear the last speaker.

) He was late and could not hear the last speaker.

Was he not a villain to do such a deed ? (Change into an Assertive Sentence)

(1) He was a villain to do such a deed.

2) He was not a villain to do such a deed.

3) Was he a villain to do such a deed ?

4) He can’t be called a villain for doing such a deed.

(
(
(

p the following questions (69 - 70), choose the option which correctly changes the given sentence from
firect Speech into Indirect Speech.

He said to me, ‘I don’t believe you at all.’

(I) He conveyed that he did not believe me at-all.
(2)  He told me that he did not believe me at all.-
(3) He said that I did not believe him at all.

(4) He said to me that he does not believe meat all.

17 1A1/N
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0. He a3 ¢
(1) ?Lm m'. How is your mother 7’
(2)  He :?;?:dm about the welfare of my mother.
) Hew me how was my mother.
(4) He asked me how my mother was.
le asked me how was my mother ?

=

In the . ?

(1) .foilg wing question, choose the correct spelling of the given word :

72 In incyclopaedia  (2) encyclopaedia (3], encyclopidea (9 pacyklapedia
the following sentence, choose the correct ptinctuation mark to fill in the given space :

What an eloquent speaker |
g) Mark of interrogation (2) Semicolon
o ) Colon (4) Mark of exclamation
nlhe following questions (73 - 74), choose the corréct meanings of the words given below :
. detrimental
(1) harmful (2) avoidable (3) beneficial (4) slippery
74. man-of-war
(1) a man participating in a war (2) awar machine
(3) a naval ship (4) a fighting soldier
75. Choose the correct option to fill in the given context :
Can you give me advice on the matter ?
(1) a (2) an (3)1 some (4) the
76. Choose the option that offers the correct meaning of the underlined expression :
Few persons can keep a secret.

(2) Not many persons ...

(1) No person ...
(4) (All persons ...

(3) Many persons ...
Choose the option that offers the correct meaning of the underlined idiom/phrase :

77. He is ready to dispose of his house at the earliest.
(3) to retain

(1) to vacate (2) tosell (4) to donate

he madeamark asa musician.

78. At an early stage,
world

(1) became notorious in the music
(2) became famous as a musician
(3) disliked being a musician

(4) fared poorly as a musician
word/expression in the given blank :
the rules of the company.

(2) 1in accordance with

In the following questions (79 - 80), insert the correct
79. The boss will grant you long leave

(1) according to
(3) by virtue of (4) because of
80. Iwishl ___ _the richest person in my country.
(1) was (2) willbe (3) am (4) were

JA1

e 18
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PART -V /#mT-V

Basic Knowledge of Computer Operations / #[e? Hareret a1 gferamat a1t

I. Which of the following memory units has the largest storage capacity ?
(1) 1GB (2) 1KB i (3) 1MB 4) 178

Pt 3 2 5w 39 3 2% g b s 32

M 15 (G (p TFR (KB (3) 1uwh (MB) ) 1t (TB)

2. Several computers in a school’s com

uter lab are connected h a swi i
software, hardware ard et accp ected through a switch to share important

ess. What type of network is most likely formed ?

W%Wﬁﬁﬁmwmgwm : f
) WIAH B S 7§ Wk Aeeeyul Trw, arsim
$IR $THE ST W o o Frefafea & 4 #9 4 Yead it wad afirs guEm 22
(1) LAN (2) MAN (3) PAN (4) WAN
13. lcntri\f_g \';Vord, which operation is generally performed using the shottcut key combination
(1) Cut (2) Copy . (3) Close (4) Change
MS\;’ordff, Fretferfed 3 & i @ w0 g Culsc wiwe = (key) TS 1 TN FTH A
A ?
(1) < (Cut) (2) G (Coﬁy) (3) ST H (Close) (4) =T (Change)

34. Which of the following is an example of a popular web browser developed by Google ?
frfefed 3 @ %1 |/ T (Google) N1 foefad T Al ae S1Esw (web brower) 1 IS § ?

(1) Google Meet  (2) Google Drix;e (3) Google Chrome (4) Google Assistant

#5.  Which of the following is not a cloud-based video conferencing and communication platform that
allows users to conduct online meetings; webinars and virtual collaborations ?

frafafea § @ $1 W v Fele- i Hifed wi it Tan <ewd T 8 W swrwd

(1)  Access (2) Meet (3) Teams (4) Zoom

19 JA1/D
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GET IT ON

Google Play

86. W is t i
'hat is the Primary use of ‘Microsoft OneDrive’ ?

‘Microsoft OneDrive’ sy Y@ 394 41 2?7
» - ‘:‘
(1)  Anti Virus (2) Cloud stor@é%

 —

(3) Operating system (4) Progamgigﬂﬁtanguage
}
!..:*"xg

: )
87. Which of the following is not a popular web search englglg7

(1) Bing (2) Find (3) Yahoo (4) Google

88. Which of the following is not a popular example of a Virtual Assistant ?

frafafaa & & w14 o wh ager afgee (Virtual Assmtani;)"ﬁ ST e T €2

(1) Apple Siri (2) Amazon Alexa

(3) Microsoft Access (4) Samsung BiXby

most likely recommend to store the marks obtained

89. Which of the following software would you ; :
d perform basic statistical analysis with graph

students in their annual examinations an
representations of the data ?

mﬁ@mmmﬁmﬁmﬁ%mﬁmqﬂwﬁmmﬁﬁmm
ﬁﬁ@%mﬁwuﬁﬁfm%m&gﬁmﬁﬁﬁmﬁwmmw?

(1) MS Edge (2) MS Excel (3) MS PowerPoint 4) MS Word

90. What does the ‘s’ in the internet protocol ‘https” represent ?

#2797 WA (internet protocol) “https’ 3 /s’ 1 %N HACTH €.

(1) Safe (2) Secure (3) Smart (4)  Structure

& 20 JAI1
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PART - VI / HT9T - VI

Awareness about Schoo| Education, Examination Board & its Administration etc. /

f&umﬁtemﬂ\éqﬁenuﬁmmmmaﬂé%ﬁaﬁﬁmmﬁ

91. How does the National Curriculum Framework for Foundational Stage (NCF-FS-2022) describe
the importance of “flow-down’

' from Aims of Education to Learning Outcomes in the curriculum
development process ?

(1)  The flow-down

: pProcess ensures that the Learning Outcomes are abstract and theoretical,
ensuring that ed

ucational goals are broad and not focused on specific, observable results.

(2) The ﬂOW—fiown process aims to achieve educational goals by disregarding curricular goals
and focusing only on immediate learning outcomes for short-term achievements.

(3) The ﬂoyv-d.owp process eliminates the need for teacher’s involvement, as it focuses entirely
on the institutional culture and the curriculum developer’s vision.

(4) The flow-down process is a method of translating broad educational goals into specific,

observable competencies and learning outcomes, ensuring coherence between syllabus, content
and pedagogical practices.

ST = % ToTe, Tty el St (Tees-uhee-2022) § e % seeet @ i afRons;
% AT %1 T B e fach Wi ¥ S ey wawm w

(1) ware-gisa 7 gifea wedt & fk srferm wRom sopd s Sife 8 forad v weg =ms ©
31 fafere, gferirer aftomd = S 7 3

(2) HRTEAl FEdl 1 e FIA GU R Siefed Sudferl % oy e dlehifers St qRom W
2 Ffed FTd g1 Jae-uihan &1 3ega Jferk el i wre e B

(3)  waETE- WAl e 1 ariier ) sTavada 1 GaE FT 2, FiE 9 T wE § SR S5
A wrgawn fafaet &1 gfte W favfe e &)

(4) wae-viEa = s aedi #1 fafime, gferier qameii ofk siftrm aftomsl & orare &3
v fafy &, forma ey, Tt o fam sl & ste wese giafea fea s w)
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922,

98.

94.

A E?

TT— R ——
In the Natio : 23 how does the conce
. . nal Currj School Education 2025 h & i Pty
95:;:1;“18 e insmcgg;‘;n; iff:::ﬁvo:glsfg to ensuring effective et O:ofg:?? phys'cm
Q) P]:“nnc:nsses, i WhiChpof the fo)ilowmg is NOT part of this P : J ensure Proper recoy,
aftor g Warm-up and cool-down activities €© prevent injuries &1 &y
(2 Imp] elmens-e physical activity. , .
Eff:;ti?:nﬁnng teacher demonstrations and m?dellmg a;ts
skill acquisition and understanding. of Iovemer = . s
3) Dfe"ﬁloping a Cocglpr;h(;:s?\l:e l‘:::lg-term sﬁa%eﬁ that focuses solely O increasing ti€ Nump,,
©Of physical activiti X i : :
(9) Adapting activitiese :OP :;i:vs-lz ieaming 1evel‘si;"ari;d capabilities of different students, ensurleg
3 an appropriate level of challenge for all participants.
ge for all particip . ¥ .
eT=a FoEn wpelt e, 2023 %Wmﬁr&ﬂ =1 el H gwﬁwﬁwmmm ¥
e e 3 fora oy sl e’ i s SR & S R
1 -39
(1) o G o i s Ty & a e fot g T T KT8 .

part of the lesson plan to ensy,,

1 Tifafafer it e S :
@ mmmﬁqaﬂtmﬁwgﬁfaﬁmﬁ%mmmﬁﬁ@*“ﬂﬁﬁ%ﬁmﬁ
3R wisfeT @ @ FE
©) Hﬁmmmﬁamﬁrﬁﬁrﬁﬁﬁwagﬁwgﬁmﬁ v SHfed F el T AR, <relepifeny
@) T o % e S SR el 3 sgeg e F S T weft sl 3
fore gAY = Sfaa wR gifaa ST
In which year did the Central Board of Secondarg’:::'iiucaﬁon (CBSE) merge with the Delhi Boarg
of Higher Secondary Education ? ——
¥t mmeafues foen o (M TEL) ?ﬂﬁﬁﬁaﬁﬂ?@gaﬁfﬁﬁ@@%‘%mﬁaﬂmaﬂgm o)
(1) 1952 2) 1962 (3) ~1972 (4) 1982
Why does the National Education Policy 2020 propose the creation of separate verticals within the
Higher Education Commission of India (HECI) ?
dependently determine their fee

higher education institutions can in

for easier implementation of regulations.
nflicts of interest and promote accountability

(1) To ensure that private

structures.
To establish a hierarchical system of control

(2)
(3) To avoid concentration of power, reduce co
through functional separation. i
ications with global accreditation bodies and practices.

(4) To align higher education qualifi h-g
e forer fifd 2020, ¥E % = e ST (Q%rs‘ajam‘) ¥ TEd STCIT-3TeN TS S hl T Hi

(1) aﬁﬁﬁwﬁwqﬁmaﬁwmﬁmwﬁﬁmmﬂ%n
(2) m%mmﬁm%m@mwmwﬁam%mt
m%ﬁwﬁwﬁ,%ﬁﬁwaﬁmaﬂﬁaﬂimqw%m&aﬂﬁwﬁﬂ

(3)
agral & & fag |
(4) mﬁmﬁmmﬁéfwmﬁmﬁaﬂwmﬁ#maﬁ@am%fml
22 JA1/D
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What is the Punishme

‘. ~
Q! from Sexual Offenceg

nt for ’
Act) 2 "BEravated sexual assault under 'POCSQY (Protection of Children
(1) S years impﬁs(mmom

) 2 7 years imprisonment

(4) 10 years imprisonment

e (AT A9 sy
RakhL ) P S —
(1) 5 F Fram

(3) 394 F FrEm

96. In the National Curriculym p
'sportspersonship’ and “avoidin
does this contribute tg 5 positiv

ramework for School Education, 2023 why is the focus on
& Personal comparisons’ critical in physical education, and how
e learning environment for students ?

1) It encoura
@ erformanc%ge? Students to focys on beating others and achieving the highest level of
: In order to motivate peer competition.

2) It fosters - :
(2) e an environment where students concentrate on their personal skill development

te
impr : ich i

provement, reducmg the pressure to compare themselves with others, which in turn
enhances self-esteem and motivation

(3) Itensures that all stude

nts are tr ‘ ey % N an
form of skill differen re treated equally, regardless of their skill level, by removing any

tiation in assessments.

(4) It limits opportunities for feedback from peers,

. = focusing only on instructor evaluations to
avoid subjective judgement and ensure fairness.

Wﬁm_m@h‘éﬁﬁm 2023 , wiifiss foven § @errE’ @i safwa qor @ T@E’ W EH
Ffer F A =i 2, 3l 78 2t % fore g e A § R A A d

(1) T B Al GH H T IR ToIw Yeu w W O W A e e % fer deated e ¥
difer Teshdl faeast i 3fa farar = 9% |

(2) ¥ UF TH IIET0 a1 § el B AT S Bt w3 GUR W e i e E gl
& TG AU GO FTH % TAE FI HR FW €, W a6t § AH-THA 3 IO H agm

(3) uzgﬁfaam%ﬁﬁmﬁ@ﬁfﬁ,_ﬁmw%maWmamﬂmmm
i fawdl ot wHR & Fhe e B g

(4) 7% |fgdl | gfagfe & sreagd # H@i & ¢, Faa v qedied ) om HfEa s § ats
AfFaTE o 4 a=n w1 9% iR Freag gifaa =t 1w

AL
e
=
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97.  Which of the following is NOT a function of the N:fm'onal :
(NHERC) as outlined in the National Education Policy 2020 *

98.

)
@
@)
@)

Tt formn iy 2020 % vea g v Ren Frame 9RO (TCEE AL F it ﬁﬁﬁ““m
FH TH 77 |

1)

(2)

®3)

(4)

According to Section 8 of the Right of Children to Free and Compulsory Education Act, 2009,
which of the following is NOT a duty of the appropriate government ?

(1)
(2)
&)

(4)

-y wd sifard ame foen sifver sifufem, 2009 % =% 8 % o ER, Ferfefad § § 29 @
QHfad BTN &1 Fdo & &2

(1)
(2)

247

1

. ion Regulato
Higher Education Regulatory Cou%l

i DPs) and providing f,. .
Monitoring the progress of Institutional ngelopment Plans (IDPs) g fun dlhg

accordingly.

Regulating higher education in a “light
good governance. (Y
Adjudicating complaints or grievances arising from p
Education Institutions (HEISs). 2 lator for Hj
Replacing multiple regulatory agencies to-serve as the single-point regu 18he,
Education (excluding medical and legal education).

but tight” manner to ensure financial probit, 2y

ublic disclosures made by High@r

T foT AN (e A, ) 5 g i R S Sl AegER o W HaT T

" A Tl & e 9 faan e s T g oA AR G iy
S| |

1 et Wear (T doné. ) g b e SR & e e 4 foEel 6 ey

ST

#ﬁwqﬁmﬁﬁmﬁm(ﬁm%ﬁﬁfaﬁmﬁm)ﬁﬁw*mwm
F w9 4 w1 ) ' ‘

Ensuring the provision of free and compulsory elementary education in a neighbourhood
school.

Monitoring the admission, attendance and completion of elementary education for every
child, including children from disadvantaged groups.

Guaranteeing that children receive reimbursement for transportation costs if they live more
than 5 Kilometres away from school.

Ensuring that schools provide a good qualify education in accordance with prescribed norms
and standards.

S & Wl § f1.yew iR siframd etk fRien w5 weem gifieEd s

At e, 5 difer Tel & a1 ot e, o wev, suferf ik werfes fran = qofer 2
FHEAT |

afe a1 TFel 9 5 feheiier | $1fueh X Ted § of 3% 9fEeT A & for wfgfd % e 2,
77 gfafaa #e1 o wepet fafed AEE S AR % ST STt T Al e war % |
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\\'h‘. 18 ‘Guided P]a.‘»' onhqid
a0 of dl‘\'\‘lopmt‘nl dui’ing ca ered th m

e , .
fly childhg Ot effective method for enhancing skills across all domains

yndational Stage A
Ft‘)umu is x\mn\Plefel\Slil(\:iI]::iFSZOD) ? °d according to the National Curriculum Framework for
( : ~di
) ~hers 1 : f 'Pﬁ, i
9) Teachers provide gy, F S allowing for total autonomy in learning and exploration.

specific learning gyq . Scaffoldin . '
ectivae” | g Whil : ; i
3 It includes strict rul?es ::E; e allowing children to lead the activity, focusing on

A)
@ I is centered on group agﬁ%ufi?eﬁnes that ensure children follow a structured learning path.
& W% W{CNES Where children learn solely through peer interaction.
ﬁmwﬁﬁm‘ﬁéﬁm@avﬁ Cg'FSQm) % IER, YRivw S0 & 0 ol fowr ae |

‘m WSt fafly ol T e 22
o o W R iséﬂs’mﬁ@?@ﬁaﬂtmﬁwmﬁaﬁ%i
o i F g ¥, ST 3 i g e, Fafire s St

TR Yoy
3) 7o I= 1w ik fagy
( iy %W%%,ﬁwmmmgﬁﬁ@mﬁwwm

Tlﬁﬁr i ; g
@ T wm%%wﬁaﬁam sr:fran ¥ o @ e ¥

According to Section 6 of the
which of the following is NOT
in ensuring children’s access to-elemen
.. CC e otmentary education ?
Providing schools withir yea: oRg
Y limatic End devel lﬂmirgisonable reach of all children, taking into account geographical,
c Opmental Variations acrogs regions. ,

7) Defining and notifying tfene;
@ the defined Iumt:fy 6 ﬂ;lf‘e‘i?aghbollrhood” for each locality to ensure schools are within

a—f?g;“ o .C,hfldren to Free and Compulsory Education Act, 2009,
{drarnsibility of the appropriate government and local authorities
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3)  Mandating that the ce ‘;j s
() Mar hbough o Nizal government set a centralized, uniform definition for the
neig 00d " Ior every State and union territory.

(4) Mapping the neighbourhoods or habitati L 5 e
gaps and areas for new school Openjna ons and linking them to specific schools to identify

i gs.
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